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— 9912 Nop2 By Pyaw: PN
An oath is not administered for denying, etc.

OVERVIEW

The %7723 concluded that even if we maintain 7777 is 2°°11, nevertheless in the
Xn>12 of owho, if the MY admits to 2°nw he will be Mo, for it is a case of
mMypPap 71avw nv93. Our NvoIN discusses whether v"7 follows the ruling of
YRR TYW 17793 HY 1Y PR.

- N2YPY 229 N§H21 Y097 ©990Y

According to the texts that the Xn>92 mentions ¥''9 (as the one who argues
with X"2wn) —
— 0113 29 YWIHT NI*PY 229 NN 5'”\’)‘,7115 N

One cannot ask, but ¥''9 interprets the verses according to the @2y 1239

manner (and not according to the v391 593 manner)l, as is mentioned -
— (@W A5 P D939 ) 7992) (039 5nnnn M7 owI 3,7 97) ‘myave NP P9

In the first P92 of nyi2w noon and in the 25197 '» P9 -
—*m0v on * MYPAP VYNNI IR 20V 91259 YWIITT INNDY

And the one who interprets the 2’2109 in a manner of WY1 2% does

not exclude ¥»9p (on account of the details) but rather only nyauww are
excluded from a 7y1aw 217 -
— (3,0p 97 8np x23) NN DN P93 NIINTD

As is evident in *Rn2 BT pop -

" There is a dispute among the 2°Xin when the 770 writes a generalization followed by details (and
followed by a [second] generalization), whether we interpret it in accordance to vI91 525 or LY M M2,
According to the v91 995 system if there is a vI91 995 we follow only the v19; if there is a 7921 v91 995 we
include anything which is similar to the v (and exclude anything which is different than the v79). In our
case of ny12w, there is a 7221 v191 992, and the v (which is n2w AN MW, etc.) is a TwAn 1D 2V7VNI 127, SO
we exclude 7w which is not 1n 1 and (MYPIP? WPIAW 2°7231) PP because it is not a uhvnn D37
According to the vy 1 1277 system if there is a ¥1¥°m1 "12°7 then we include all which is similar to the v7».
[A v M2 is the equivalent of a 9721 v191 592.] If there is a 127 W "2 (as in our case of mAWY),
then we include everything and we exclude only one thing; that which is most different than the v79. In our
case it would be n7vw as MvOIN mentions shortly.

2 Concerning the 77 791 1277 210 for a "2 AW the 770 writes Yawn >3 woi [this is a »121 (or 2))],
220777 R ¥ [a vwn (or vI9); only RaT? and only for good or bad], Xva> WX 737 [a final »1271 (or %22)].
According to ¥"1 (who considers it as a "12>7 LW M2, this P10 is 727 all types of myaw (for a 210
129P), except for one; a M¥NT NX Y037 A1aw. If we would follow the v191 995 it would be 7277 only mwiaw
X277 which are not 2°0°1% W ¥

3 The 7™ 12 M deletes the word o°1°n, for MvOIN is referring to the '3 P75 of MY on X,10 77 where the
X3 details the »12°71 11y 1 ™12 according to ¥"7 concerning *19°2 N¥12Y as mentioned in footnote # 2.

* See “Thinking it over’.
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— DIYPIP TAYY N30 HY PYaAY)I PN NI 9INRP 39D)
So how can the X 13 say here the reason why o°nw is 75 (according to
both X"awn and ¥"1) is because MYPAP TIAYW NI DY PYawl PN, when

according to ¥"7 (who is "0y 13 127 wNT) there is a A¥12w 271 on MyPIp, based on what
was mentioned above.

N1B0IN answers:
— “mypap VYNY VIYN DIV 1Y YV Y YN

And one can say; that ¥"7 has some v » which excludes nypap from a
aY12W 21

mooIn proceeds to bolster his claim that we can exclude ¥pap from 7312w (through some
v n) even if we follow the vy 11 91277 system.
— (NN %37 PNHNN N1TOWI 3,7 91 INIYN PID2 19PD 991D 1998 199

And we are similarly required to say this (that there is a special vwn for

mypap) later in R oD -
— TMYPYDN N9 DITAYN PPV 1YY NHINT NN 2297 NN

According to »'"9 who maintains that there is an oath for slaves (in a

case of n¥pna 7M), but not for MYpPap -
— NIAYY 59195 MYPIPY IWPIN DITAVT 22 IY N

Even though that 272y are likened to myp9p according to all -
— (3,2397 “PYITPT NP P93 9D NP3 TaY NAYO INDINT

For it is on account of this w77 that an 73y is acquired with no> as the

X3 states in the first 9o of w79 N20N. Why then is it that 2"1 excludes ypp
from a n"2m h¥aw, but not 2°72y. -
— VY NININD Y0IYY 9992949 WIIT 9INM 2297 NON

But rather the explanation is that »''= follows the w2y 912339 system to

exclude MM from "2 Ny1Aw -
— D72y VYNY 1PN VIYIN ININIY MYPIP VYNY VIVIN DIV Y YN

And he has some ww» to exclude mypap (as mentioned previously),
however with that v1»°» we cannot exclude 2972y -

5 The 771N writes (72-X2 ,77 XIp"1) concerning a NP0 NY1AWw that " [w19\vWw ] 1792 [M2°\253] Wy Wi
[729\"127] vaw> awx on. Those who interpret this as W M2 exclude only Mww from N7p97 1AW, but
not 072y NWPIP; however those that use v19Y 975 exclude 072y ,Mypap and NLWY.

% Indeed ¥"1 cannot exclude yp1p from the *12>01 v1*» "1™, but ¥ has another 7wA7 (which m9o1n does not
mention) which excludes nMypap (T2vw n703) from a 7312w,

7 The X there states clearly that »" maintains that 2°72y77 9 Pyawi. However there is a discussion there
what is his opinion concerning nypap. It is evident that there is a possibility that 1yaw1 for 0*7ay, but not
for mwpap

¥ The 70 writes (¥,75 [772] ®p*Y) concerning 2°1v1d o°7ay that 1R MW "3 anR anonInm; comparing
072V to YPIp; just as ¥pIp is 7022 711 the same applies to O°72y.
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— MYDIPY WPINT 23 YY 9N

Even though they are compared to *mypap, nevertheless the vwm of mypap

will not exclude a>72y as well. mdoIn proves this -
— (1M ANND NAMT DY) K,)0 NP Naa) ‘°‘nm‘ma NIINTI

As is evident in 77292 P -

— D272 MYPIPY S0IPIN NIYW THI8 NI VYN NI YWIITT INNIT
That the one who is ©Y ) 77299 W97 requires two separate 2wW» to
exclude both mwpap and 2°72y.

mooIn responds to an additional difficulty with the X073 that mentions ¥":
- “N:’pv 29 YW 11250 17 TYON 12 PYNY 2297 2) DY 9N)

And even though X''2w=9 was a student of ¥''" -
— D 99D MY PIINY NN YINY PN

There should be no concern with the fact that X"aw" argues with his
master ¥'"1 and is even mentioned before v"- in our Xxn»12; this is no surprise -
— 90V DYPYTIN DIV 22) (vt 91 JIPT 198 T PYIT
For we find something similar later in the X723 regarding the case of 2w
v PPITR -
— AN YN 12 PYNY 129 OY 239 1YY
where 527 argues with his father 3''2w9, and *37 is mentioned first.

moon seemingly resolved the difficulties with the X072 of ¥"), nevertheless nvoIN
concludes:
:aPY? Y29 NON Y09)T 02990 U

However, there are texts that mention 3p¥° '3, and not ¥"7, as the disputant of
X"2w". According to this 073, there are no difficulties at all

SUMMARY

? The anticipated question is; why is it that when we exclude Mmypap trough a %221 1191 %23 we exclude o7y
as well (since nWwpIP? W), however, when we exclude it from a v1¥°n (and we maintain the v1¥°m M2
system) then 272y are not included in the ©V1¥°»n of NMYpPIP?

' The p109 in 17,22 (2*vown) MAw which is discussing %92 *m>wn (by a W) states ¥ MW 9y ywo 127 95 7y
77°2R 92 2y "3 i, The X there concludes that the last 95 (of 77°a8 72 %¥) is not a 975 but a ™2 The
X773 continues that if 93 is a »12>71 why does the 105 mention the various o°v70. The X713 replies that one
0719 is to exclude VW from 993 and another excludes NMypap and another excludes 072y, etc. It is evident
from that &7n3 that if there is a "12"7, then even if we exclude Mypap (through a v M), that exclusion is
limited to MypP7pP and another WW™n is required to exclude a°72y. The same applies if we assume the "12™
1271 LMY system; the 119°n only excludes M7vw, and if we have an additional V1w for MypPap it will not
exclude o°72y. However, if we follow the v191 525 system then if the v9 excludes mypap it will also
exclude o°72y. The explanation is that if we follow the 121 system, the 121 is so powerful, that even if we
exclude mwypap it cannot exclude 0*72y on account of the *12°1.

"It seems that X"2w was a student of "3 (see X,2% M), who was a student of ¥".
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According to ¥ who is *01wm1 ™21 w7, we derive that N7°90 H¥ Pyaw: PR
mMypap M2y w from a specific V¥ (which will not exclude 0°72y as well).

THINKING IT OVER

mooIn ask that since ¥"7 is "0 2 w7, the VIY» excludes only MW
from a 712w but not mypp.'> Seemingly it is possible to say that ¥"-
(agrees with »"1 and) maintains that even if one destroys someone’s 70w he
1s Mwd from payment (for he is merely a X»73). In that case it would
(seemingly) not be necessary to exclude n17vw from »"21% N2V since there
is never a 2117 on MMWW. It is therefore possible that ¥"7 will use the one
1Y) for ¥pap. This should resolve NvoIN question!13

12.See footnote # 4.
B See n"nx # 112.
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